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fi gures in the margm mdtcate Sfull marks
for the questions..

_ Answer etther in English or in Assamese.

Answer questions nos. 1, 2 and 3 and
any four from the rest.

1, 2 9% 3¢ 247 Tet PR wie I 2RI
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State whether the profit margins of a
..company during the last eight years
~ constitute statistical data or not. 1
@B e Q@ s T ASTA

AR o T 7= Tt =M1

" Contd.



(u) Flll n the blank

Data collected for the first time are 1
called . ' ‘ 1

awwmw\sjae—w___i_ QM
(iii) Wthh of ‘the following relations is not .
true ? o . : 1
(@ Q, =Median ()
) | Py =Median (%gs) ‘
(c) Dy =Median (ﬂﬂ) o 1
(d) D5 = Median (smm) : |

(iv) Whatis the relahonshlp between the standard
deviations of the following two series ? 1

wﬁaqﬁamﬁw@awwﬁ
.‘ ﬁs ? ..
10, 20, 30, 40, 50, 80, 120 -
and (&) "1, 2, 3, 4, 5 8, 12
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(v) Select the correct answer : L 1
v Te fAdfon 1 - N .v
I the correlation between x and y is negative
“then the regression coefficient of x on y is :
(a)  positive (%) } |
_(b) - negative (3NIT)
(c) not certain (SA{*5S)
() Fill in the blank: -
The . independent. variate values in
interpolation and extrapolation are termed

.. as 4 1
ST zrfimm FOF 5o T
{ﬁi G =
(vii) Fill in the blank :
YA 2 A
Cost of living index 'numbers'ar.e also known
as ' ' 1

G R TP - RS T TiT)
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(vuz) Select the correct answer :

o Be o = :

‘The component of time series associated with

- the sale. of wool and umbrella is;: .~ 1’

‘wwwaﬁﬁzﬁaaww@@w%

A = -
(a) secular trend (ﬁ‘m’ﬁﬁlﬁﬁaﬁ@)

(b) irregular v'at.'iations .(?nlj[ﬁza.s NIESO))

®

(c) : cyclical 'variations ,,(Btpﬁa_wfia@t)

' (d) seasonal vanatlons (a@ﬁé Wf-‘qa@y)
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If A is a sure event what is the probablhty

of occurrence -of -the event 4?7 1
fit A <51 AR5 WG =W mi’wm,q ‘ZIT;’R
FeiFet = 2 .

Mention the parameter of Poisson probability -

distribution. 1
9{'%‘-1 Feife a%aa enwm %m:: =t



®

©

(@)

survey is a must. 2
m@ﬁﬁ%wmﬂwﬁ@mﬁ%@ :
o '%WWWI v
_What do you mean by Kurtos1s ? 2
| wwiﬁmﬁs{@ﬁ?
Find E (X) for the followmg probablhty
distribution of X. : 2
; Xaﬁm@ﬁ@ﬂmﬁ@tmmEmﬁﬁ
X : 0. .1--2, 3
L3 31
P:-% 8 8 3
What is type L error 2.~ . 2
AL AR Fo F 2 -

(e)

- Mention two situations  in which census

Mention  two properties of correlation
coefficient. 2

ST QA 757 4f BrE =
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3.. Answer any four parts of the following :
5%4=20

| o | ﬁmm 5161 me ﬁﬁ?ﬂ
(a) ‘Write a note on the hmltatlons of statistics.
R R et e o e B |

®) AExplam brleﬂy the use of dlagrams in - |
presenung statistical data.

Yl Y TS B el E
HIR 0L 3]
(c) Determine. ‘mode for the following
distribution : '
Marks : 15 610 115 1620 2125 2630 313"
No. of students :, 7 10 16 32 24 18 10
= R - o

Marks : 36-40 . 4145 .
TH_ ' :
No. of students: 5 1

RIG RYL
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@ Whaf is skewness ? Explain- the different
types of skewness.

U wal%mwmhwﬁ9wﬁmﬁﬁfw
' AP JIYI WI

(e If A,' B and C are mutﬁéﬂy exclusive and

extiaustive events, and "P(A) :-lP(B).' and

P(B)-—P(C) find P(4), P(B) arid P(C).
3 4, B C%ﬁﬁwﬁa@f@wﬁw
wWqal W WF P(A)=—P(B) ,

P(B)——P(C) A CEY P(A) P(B) e
' P(C) Fefa awn o

@ VWhat‘ls a control chart ? Explain theteason
for 3¢ control limits for a control chart.
fRae oa 1 9ﬁmﬁx¢1€3a ﬁmﬂmmﬁ |
PR W o

/

4(Sem-2) BUST 7 . Contd.



4. (a) Calculate mean and standard deviéﬁon for

the following distribution: 3+4=7
| ﬁﬁ W - | |
Profit: . , 20-30° 3040 40-50 50-60 6070
(Rs. in lakh)
A (=13 5rS)
No.’of companies: 30 .. 58.  62.. 8 112
@wﬁa R o | |
Profit: 70-80 -80-90 90-100 -
(Rs. in lakh) _ ‘
FS (T BlS)
No. of companies: 112 51 . 26
casmﬁa TRY!

(b) Dlﬁ'erentlate betwqen pnmary data and -]
, ‘. secondary data. : 3

Www cﬁquxm@mn
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5. (a) ‘What do you mean by correlation between
two variables ? Mention the different types

. of correlation. e T 2424
@Wﬁamwiﬁtﬁﬁsqm ?ﬁﬁ
PR AT St |

’

(b) The followmg data are about sales and
advertisernent expenditures of a firm :
o YR G4 z»m ﬁr@aﬁr SiE ﬁmm
T wﬁﬁl =
Sales (Rs. in crores) Advt. Exp. (Rs. in crores)
R 370 (b Tore) Rt % (G Bvvs)

Mean' . . 40 . . 6
Mg R : ‘
‘Standard deviation 10 o 15

The correlation coefficient » = 09 -
AR ST = 0.9

(i) Estimate the likely sales fof.the'
proposed advertisement expendlture of

Rs. 10 crores.

= " I eﬁaﬂ%@ 10 6 Bt
FACHCF Ty R 0 et =
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(i) ‘What ‘would be the advertisement
' expenditure if the firm fixes a sales

target of 60 crores of rupees ? 3+3=6

o TR 60 G Bl Gl oy
P (O Ta R@ieq 3w ﬁﬁn‘?{ 5’21'
u mf?ﬁ? '

6. ‘() Production in a sugar mill is given below.
‘ Fit a linear trend by the method of least
squares and estimate the production for the

year, 2014.
o} csﬁwﬁavm Wﬁﬂti’ﬁlw?ﬁf'
SN B FREARF THAS itviem =1 Wi
2014Wﬁfc<%ew AR ST 1
Year: | 006 2007 2008 2009 2010 2011 2012
Production: 40 45 46 42. 47 49 46
(In thousand
quintals)
- Besive :
(=R FZTeT0) ~ 5+1=6
(b) Write a brief note on the usefulness of index
numbers. 4
AHIR zm@ﬁm W aﬁ’»‘ 5 (O forat|
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7. (@) State the multiplicative law of probability

-and illustrate it with an example. 2+4=6

SIS SIFACH! o7 1% 51 Brzaeeies gt

(b) Define. mathematical expectation of a
random variable. ‘

o B el |
In a busmess a man can make a profit of
Rs. 6, 00,000 with a probablhty of 0. 3, or have

“a loss of Rs. 2,00,000 with a probability of
~.0.7. What is his expected profit ? 143=4

nﬂTﬂWtﬂWﬂE{(.‘i 600000 T e
79g SR 0.3 WF (O6q 2,00,000 Bt
camﬁ@aﬁﬂ@ﬁ*mﬂmam SroP

ﬁss:ﬁ?

8. (a) What is a binomial probability distribution 2
MenthIl the propertles of this distribution.

2+4=6

ol FOIRS! TBA 5 2 9B T g %@q

4.

If 5% of electric bulbs manufactured by a
company are defective, find the probability
that in a sample of 100 bulbs

@)
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(i) none is defectlve (zz) 5 bulbs are
defective. [Given': ¢ = 0.007] 242=4 -

1 I @B IR et = Reg
AR 5% FHIE A, (T3 100 B R
A w7t dfomf Brs (1) dBe. Ty Reg -
I [, (i) SO =hye R A 2w
e T | [ﬁmw : e =0.007]

9. (@ What is an mdex number ? Write down the
formulae of Laspeyres’, Paasche’s and

Fisher’s index. numbers. 1-|-3_4

w@smﬁw SACAR, mﬁwﬁw
| PIIRR AR A

"(b) Write short notes on : . 3x2=6
(i) " Level of signiﬁbance
Cowfeel e |
) Usefulness; of interpolation in Commerce, -

QTS BT AT |
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